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There are 50 questions eaci éfTh? i sections namely (i) Physics, (i) Chemistry, (ii1) Mathematics and
(iv) Biology. Each candidate Mis+osffSwer 150 questions. Questions of Physics and Chemistry are compulsory.
Apart from that, PCM group candidates have to Answer Question of Mathematics and PCB group
candidates have to Answer Question of Biology while PCMB group candidates have to Answer Question either of
Mathematics or of Biology.
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If there is any difference between English version and the corresponding translated version in Hindi of any
question, then the English version will be treated as authentic.
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volume is 0.075 kcal kg“K_

constant is R = 2 cal mol™ Ig-!
atomic weight of Argon is-

(A) 15 (B) 37.5(C) 75 (D) 40

A copper rod and a steel rod maintain a
difference in their lengths constant equal
to 10 cm. If their coefficients of

expansion are 1.6 X 10/°C and 1.2 X -
1075/°C, then the length of the copper
rod is

(A) 30 cm (B) 40 cm (C)32 cm (D) 24 cm

An engine takes in heat from a reservoir
of heat at 527 °C and gives it to the sink
at 127 °C. How many calories it shall
take from the reservoir to do a work of
75017?

(A) 1500 cal
(C) 357.1cal

(B) 750 cal
(D) 178.6 cal

A tyre pumped to a pressure 3.375 atm.
at 27 °C suddenly bursts. If y= 1.5, then
final temperature is nearly

" (A) 0°C (B) -27°C

(C) 27°C (D) -73°C

The coefficient of thermal conductivity
of a rod depends on its

(A) length

(B) mass

(C) area of cross-section

(D) material of the rod

Two spheres of same material have radii
1 m and 4 m and temperature 4000 K
and 2000 K respectively. The ratio of
energy radiated per second is '

1
»w5; B1 ©2 (D) 4
A layer of glycerine of thickness 1 mm is
enclosed between a big plate and another

plate of area 107! m?. If the coefﬁcient of

viscosity of glycerine is 1 kg m™ 1571, then
the force required to move the plate with a
velocity of 0.07 m/s will be

(A) 007N (B) 0.7N

() 7N (D) 70N

, theh~

( PHYSICS) °

y

/ a particle executing simple harmonic

10.

11.

12.

13.

14.

=4 cos ot + 3 sin ot is the equation of

motion. The initial phase angle is
(A) 37° (B) 53° (C) 45° (D) 90°

" A uniform rope of mass 0.1 kg and
length 2.45 m hangs from a ceiling. The
time taken by the transverse wave to

travel through the full length of the rope

is ’

(A) 20s (B) 1.2s(C) 1.0s (D) 2.45s

An air column closed at one end and
open at the other end resonates with a
tuning-fork when 45 cm and 99 cm of air
column length is used. The wavelength
of sound in air column is

(A) 36cm (B) 54cm

(C) 72cm (D) 108 cm

A mixture has 1 mole of Helium and 2
mole of Oxygen at 27 °C. The speed of
sound in this mixture is nearly

(A) 480 m/s (B) 401 m/s

(C) 322 m/s (D) 243 m/s

A driver of a car approaching a vertical
wall notices that the frequency of his car
horn has changed from 440 Hz to 480
Hz when it gets reflected from the wall.
If the speed of sound is 345 m/s, then the
speed of the car is
(A) 54 km/hr

(C©) 24 km/hr

(B) 36 km/hr
(D) 18 km/hr

The electric field intensity at a point is

(20? + 30}0) N/C. Considering potential
at origin to be zero, the potential at
P(2,2)1s

(A) (401 +60)) v (B) - (101 +15]) V
(C) —100V (D) 20V

A particle moves according to the
equation x = x; sinfot. The motion is

simple harmonic motion with
(A) amplitudex, (B) amplitude 2x,

2 .
(C) time period _(;n (D) time pemodg‘
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(A) 15 (B) 375 (C)75 (D) 40
% dfd P B T4 Uh WA B 5 e
AT B AR BT 10 cm R FRR @ §
A I TR F 1.6 X 1075/°C v
1.2 x 107%/°C &, 99 91 &) s &) s &

(A) 30cm (B) 40 cm
(C) 32cm (D) 24 cm

T g9 527 °C W HH TS T ol & 3R
f7h B1 127 °C RI@E | 750 T BT b1 bRy

& R s 3 8 et e s v 2
(A) 1500 cal (B) 750cal
(C) 357.1 cal (D) 178.6 cal

T 27 °C 9 3.375 atm. S19 J 97 fhar
AT TRR S e I 13X y= 1.5,

a9 rfaw qreaE aw &
(A) 0°C (B) —27°C
(C) 27°C (D) -73°C

TP B BT F A@GAT 6 39 R FioR
PRATE

(A) waré

(B) s

(C) IFITIRA BT & G=Hd

(D) v ¥ vew 4

TP B g1 & |1 Mail b Brw Buw: 1 m
Td 4 m 3iR qEE 4000 K T 2000 K & |
ufa davs fafeRea St o1 arqura &

1
A5 @1 © 2
6 991 @Ie 3R P aawe 107! m? areh

T e & da 9 1 mm B o 3
wd o | Al Ffaada & s qoie

(D) 4

lkgm s ¢, Qe HI AN 0.07 m/s @

Tifcrefier FRT  Sravgd g BN
(A) 0.07N (B) 0.7N
(C) 7N

(D) 70N

10.

11.

12.

13.

14.

A(A) 37° (B) 53°

AT TR R T TP B BT GHIGR

#= 4 cos wt + 3 sin @t & 1IRMWE FATHOTE
(C) 45° (D) 90°

T 0.1 kg U9 &8 2.45 m B U
UHAH IR U B9 A ACH! §% & | A B
O TS ORI AT B I B o
GLuES

(A) 2.0s (B) 1.2s (C) 1.0s (D) 2.45s

U% RR 1R 9 3R gav RR o gon gen v
Y W U @R A e gar & o
qY W TS 45 cm Td 99 cm ya@wT #
g et ¥ | ARy v ¥ el o) it &
(A) 36cm - (B) 54cm

) M2cm (D) 108 cm

% fAsror § Eiferaw & ve A ol siiRfom
F 2 W 27 °C ) & 1 29 fsror § s|fy ot
EIGECHK RS

(A) 480 m/s (B) 401 m/s
(C) 322m/s (D) 243 m/s

T HHER SR $ 3R TEIAT (6 BR B
Aerd & Nfew TRl & 5 R | wrafda
B WSS BR F BH B AMgRT 440 Hz A
Rafda 81ax 480 Hz & ot & 1 aft «f

B AT 345 m/s &, T FR A AAL
(A) 54 km/hr. (B) 36 km/hr.
(C) 24 km/hr. (D) 18 kmv/hr.

% fag W R &3 dmar (207 +305)

N/C & | 971 g w fava g fawa 83,
P2, 2)Rfawad

(A) - (401 +60)) Vv

B) -(101+15)) v

(€) -100V

(D) 20V

TP B WS x = x, sin® ot F ITAR
ferefier & 1 71fy axet smrad wfy & Ry

(A) Immx, B

(B) smam 2x, & |

©) mm%%x

(D) anaﬁm%%n
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16.

17.

18.

19.

20,

21.
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The minimum number of capacitors ac.h( 22. ) Which of the following is.a diamagnetic
of capacitance 2 pF, in order to o m\ erial ?
resultant capacitance of 5 uF will be R Tungsten (B) Bismuth
a3 ®»4 OS5 O 6 ™, ATY _AC) Platinum (D) Chromium
Two identical charged spherical drops 23.  An inductor coil stores 32 J of magnetic
each of capacitance C merge to form a energy and dissipates it as heat at the
single drop. The resultant capacitance is rate of 320 W when a current of 4 A is
(A) greater than 2C passed through it. The time constant of
(B) equalto2C this circuit is
(C) less than 2C, but greater than C (A) O.1s (B) 0.2s
(D) lessthan C (C) 03s (D) 045
. X . 24. A coil, a capacitor and an a.c. source of
A ere of 9 ,Q is bent to fom an : r.m.s. voltage 24 V are connected in
equilateral ‘t'rlan‘gle. ' The resistance series. By varying the frequency of the
across one of its sides is source, a maximum r.m.s. current of 6 A
(A) 5Q (B) 32 (O %Q (D) 2Q is observed. If this coil is connected to a
battery of emf. 12 V and internal
A voltmeter coil has resistance 50  and resistance 4 Q, the current through it will
a resistor of 9.95 kQ in series. It can be
read a potential upto 100 V. If the same (A) 24A B) 18A
coil is used to measure 2 A current, the ) 15A D 12A
shunt to be connected is 25. The amplitude of electric field in a
(A) 035Q (B) 0258 arallel light beam of intensity 2.124
() 0.15Q (D) 0.05Q parat®! 1S y =
W/m* 1s
A charged particle is accelerated through (A) 40 N/C (B) 30N/C
a potential difference 12 kV and acquires (C) 20N/C (D) 10N/C
a speeq of 10(.) m/s. It is 'prOJected 26. A concave mirror has focal length
perpendicularly into a magnetic field of 20 om. A drop of a liquid is placed
) ; A . p of a liquid is placed on
stlength (.)'ZT' The radius of circle the surface of the mirror. The object and
described is o .
its image coincide at 30 cm. The
(A) 24 cm (B) 18cm refractive index of the liquid is
(C) 12cm (D) 6cm 4 3
An i . . (A) 3 B) 5
ideal battery of emf 2 V and a series
resistance R are connected in the primary ©) 6 (D) 7
circuit of a potentiometer of length 1 m and 5 5
resistance 5 Q. The value of R, to give a .
potential difference of 5 mV across 10 em 27. A short magnet p;oduces a deflection of
of potentiometer wire is 37° (tan 37° =Z) in a deflection
(é) 113(5)?2 (}[3)) ;(9)8?2 magnetometer in tan-A position when
© (D) placed 10 cm away. The ratio of earth’s
ABCD is a rectangle whose side AB = field to magnetic dipole moment of the
10 cm and side BC = 24 cm. A charge of magnet is
0.104 uC is lying at the centre O of the (A) 1x 1074 T/(Am?)
rectangle. If the mid point of side BC is 4 _
E, then the work done in carrying 100 (B) 3% 10" T/(An12)
uC charge from B to E will be ©) 2x10” 4 T/(Amz)
(A) 1.152] (B) 2.304J 8 4 5
(C) 4.0827 (D) 230.4] (D) 3x 107" TA(Am?)

PBE
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16. T THIAM [N Mefg 9, R 9ae
@t g C 8, fera” 1o tae 4 gl & |
RO enRar &

(A) 2C ¥ s
(B) 2C & &R
(C) 2CAB¥, == C A f®
(D) CA®u
17. U6 9 Q & AR &l Aisax & qafyarg By

B PR a1 ST & | 3P P Yo W
gforRe &

(A) 5Q (B)3Q

18.  ©w dreeATd HUeh BT AR 50 Q § sk
#oft # 9.95 kQ w1 wforiy [T 5N & 1 T®
100 V 9% fa%g @19 woar & 1 afs =@
PUSH BT 2 A URT 9 H g4I fHar sy,

(A) 0.35Q (B) 025Q
(C) 0.15Q (D) 0.05Q

19, U AR 91 Bl v 12 kV @ @Ra
feram <man & o 399 %01 100 /s & =
WIS PR I & | 59 gHB g &% amed 0.2T
3 ohaad wafd fhar e & 1 affa g9 @

Broad
(A) 24 cm (B) 18cm
(C) 12cem (D) 6 cm

20. fe@ a®® ad 2V vd 9oft gfexig R arelt
% et Jedt, ufoiy 5Q td @S 1 m
arel fawgardt & merfie uRuy # i) S
&1 R &9, 9 f& fvaaf a] & 10 cm
W5 mV &1 Ravarax 3, 8
(A) 180Q - (B) 190Q
(C) 195Q (D) 200 Q

21.  ABCD U@ 3mad & Ria! 4o AB = 10 cm
3R g1 BC = 24 cm | 3M4d & d75 O W
T 0.104 pC &1 3T @ T ¥ | Ay gon
BC &1 7 fa=g E &, 99 100 pC 34 &1 B

A E 9% o WA ¥ fban a1 &t g

(A) 1.1521] (B) 2.304)

(C) 4.0821] (D) .23041
PBE

(C)%Q D) 20 |

24.

25.

26.

27.

3 B A IR PR g 2
(B) fazmy
- (D) wifiw

wﬁww&:rﬂq 32 ) graaa ol R

¥ 3R 19 30H 4A B URT yaifed @) o) &
G320 W SIS A S FTe 8l & 1 59
gRuey &1 Wy [RRTe &

(A) O.1s (B) 0.2s

(C) 03s (D) 04s

Th pUSE, U AUIRT SR Fa-wea-gd
qreedt 24 V 918 Th Jamad] gRT i B
ot 3 WS T B 1 A #) smghy uRafia
BRA W, 6A P AHTH TH-TRA- TR
o Bidl & | e 59 pset @1 Rega awe
gd 12 V @ e 9, Rraer smaRe
afiRg 4 Q 8, § ST 9§, 99 39

Tarfed ey anft
(A) 24A (B) 1.8A
(C) 1.5A (D) 1.2A

faar 2.124 W/m? & U G THbTe 4o
¥ faerd &= &1 s ¥

(A) 40N/C (B) 30N/C

(C) 20N/C (D) 10N/C

U 3adel qUIT B Biba =TS 20 cm & |
&4V $ I8 W TF 59 B TP g 7 TS § |
TG T4 g9t yfafdw 30 cm WR GURN & 159
&1 3T &

4 3
(A) 3 B) 3
6 : 7
© 3 D) 3
fagaor FrienfieR &1 tan-A R % <= s

W TP Bl P 10 em R @A W

37° (tan 37°=%) &7 a8y S~ HRaAT B |
gl & Yrasia &3 B P S PaBIg g

3ol & ST U &

(A) 1 x 1074 T/(Am?2)
(B) 3 3 1074 T/(Am?)
(€) 2 >< 1074 T/(Am?)
(D) 3 8 1074 T/(Am?)



28.

29.

30.

31.

32.

A plano-convex lens (u = %) of § a:d}u{s of
curvature 10 cm is placed at a’ 't%ce
of ‘b’ from a concave lens Of 1&0411
length 20 cm. What should be dist
-d" of a point object from the plafd=
convex lens so that the position of final -
image is independent of *d" ?

(A) 40 cm (B) 60cm
(¢) 30cm (D) 20cm
A double-slit arrangement produces

interference fringes for sodium light
(A = 589 nm) that have an angular

separation of 3.5 X 1073 radian. For what
wavelength would the angular separation
be 10% greater ?

(A) 648 nm
(C) 449 nm

(B) 722 nm
(D) 527 nm

A beam of light traveliing in water
strikes a glass plate which is also
immersed in water. When the angle of
incidence is 51°, (tan 51° = 1.235) the
reflected beam is found to be plane
polarized. The refractive index of glass
is

(A) 1.235 (B) 1.64
4
() 15 (D) 3
Light of wavelength 550 nm falls

normally on a slit of width 22.0 X 107
em. The angular position of the first
minima on either side of the central
maxima is

(A 6= COS"'@ @) o-sin'(3)
© 9=°°S"(‘,11) D) 0= sirr'(};)

If red light is incident on sea water, it
appears

(A) red (B) green
(C) yellow (D) blue

ance A9

. 34.

»
h
B

(O) 03%%
36.

37.

to be the frequency of the

series limit of the Lyman series, V, 10 be

J/ the frequency of the first line of the
/ Lyman series and v, to be the frequency

of the series limit of the Balmer series.
Then
(A) V{~Vy™V3 (B) vy-V{=V;

1
(&) v3=§(v]+v2)(D) vV, tVy=Vy
A 25 watt monochromatic light of
wavelength 660 nm is used in a
photoelectric effect experiment. If the
efficiency of the photoelectric effect is
3%, then the photoelectric current is
(A) 02A (B) 03A
(C) 04A (D) 0.6 A

In a thermonuclear reaction ‘Hz + ‘Hz +
H2 = ,He* + HE - o'+ 21.6 MeV
the percentage of mass converted into
energy is nearly
(A) 0.19% (B) 0.29%
(D) 0.49%

A TV tower has a height of 160 m and
covers a range of nearly 45 km. To
double this covering range, how much

additional height of the tower be
increased ?

(A) 160m (B) 320m

(C) 480m (D) 640m

A load resistor of 2 kQ 1s connected in the
collector branch of a common-emitter
amplifier. Given p = 50 and input
resistance of the transistor = 500 Q. If the
input current is changed by 50 pA, then
the power gain will be

(a) 10* (B) 10°

(C) 102 (D) 10

The count rate from 100 cm® of a

radioactive liquid is "x’. Some of this
liquid is now discarded. The count rate

X
of the remaining liquid is found to be g
after three half lives. The volume of the
remaining liquid is
(A) 80 cm?®
(¢) 50 em?

(B) 60 cm?®
(D) 75 cm?
PBE
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29.
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31.
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¥ U fawg awg @ g d” wr B Ry
T srfeam wfafara &) fRafa «d* o= AR =2
Y9 '

(A) 40 cm
(C) 30cm

(B) 60cm
(D) 20cm

U5 - g gam @ifea uadra (A = 589 nm)
A AfaaRor b= g & s s 7@
3.5 x 1073 Rz & | b avnded & oy
Hofia g8 10% sifdrwax & e 2

(A) 648 nm (B) 722 nm
(C) 449 nm (D) 527 nm

gt # Tifd B <E 9B B T YA i A
0 B &) =i | THIA & | 574 I BT
51° (tan 51° = 1.235) ¥, 99 wEfda 4o
qHIA gﬁm ol Wt & 1 @ &
SIRCREICTES
(A) 1.235 (B) 1.64
€) 15 (D) %

T 550 nm HT I dierE 22.0 X 107 em
B U e 1R Taad fRaT & | =0 wewW &
11 3R JeP AW 3l HIoiy fRAufy &

(A) 0= cos"‘@ (B) 6= Si"’ml@
(C) 6= cos"’lG) (D) 6= Sin_l(?})

e T STel W Tl YT AT &1, 99 I8
ERIGRSLI
(A) @«
(C) drenm

(B &1
(D) ren

34.

35,

37.

38.

B & wrgir Aot ot Aot <t amafr
g 2ofl Bt gam v B gl v, 8k

(A) vi—vy=vy (B) v~V =V,

| ;
(€©) v3=3(v; T v)(D) v +Vv,=V;

TR 660 nm &1 UH 25 qAe ThIUi]
WeTel, U ThTe @ uaTa w4 o, & i
AR AT 8 | Al gerer fagla wwra @ e
3% &, 79w fEa uR1 8

(A) 0.2A (B) 03 A

(C) 04A (D) 0.6 A

T eI afefhar | H2 + H2 + (H? —
JHet + H!' + nl + 21.6 MeV % St #

yRafdd gegur &1 gfasa P g
(A) 0.19% (B) 0.29%
(C) 0.39% (D) 0.49%

T gREe AR @ Fars 160 m & ok 7@
T 45 km TF B I IHSAT © | T I
B} Ybs B &1 A A $ o, IR @t

S ¥ v oI aifires Sraré 9 9fyg et
g ?

(A) 160 m (B) 320m

(C) 480 m (D) 640 m

IHAFTS IO TadE B FAE AR F TP
2 kQ T dis qfoRys SeTarar & | R & e
B = 50 vd giforex &1 fde afiRig 500 Q
g | afg 9w =T # 50 pA | gRada fea
ST, 79 wfd afdy g

(A) 10* (B) 10°

(C) 10 (D) 10

T A ¥fFa g9 & 100 em? oy <R
‘.\-’%l‘gﬁ?aﬁﬁﬁwﬁaﬂaﬁmw%l

ﬁﬂmaﬁmw?ﬁﬁsﬁangésm{—%
R IR & | 219 G BT IMIAT §

(A) 80 cm?
(C) 50 em?

(B) 60 cm?
(D) 75 cm?



39.

40.

41.

42.

43.

“above the ground. First drop reachq

ground when 4" drop is about to '-
the tap. The separation between 2" Ay

3 dropis (g=10 m/s?)
2 4 5 :
(A) 3 m (B) Fm ) 3 m (D) 2m

A ball is projected with a velocity

(8? + 6]) m/s. It strikes a vertical wall
elastically 8 m away. The point on the
ground where it strikes is at a distance
from the wall

(A) 1m (B) 1.2m (©) 1.5m(D) 1.o6m

A body of mass m is suspended by two
strings making angles o and B with the
horizontal. The tension in the strings are

. _mgcos!o&—ﬁ!

A T =T="G (@+B)
mszsingoc~[§_g

(B) T, =T,= cos (ot + PB)

__mg sin B __mg sin o
© Tl_cos(a+B)'T2_cos(a+B)
DY T. = mg cos B _ mgcos o
(D) | “sin(oe+B)’ 2 sin(o.+P)

A pendulum of length / has a bob of mass
m. The bob is released from rest, when the
string makes an angle 8 with the vertical.

. 0 .
When the string makes an angle 35 with the

vertical, the tension in the string 1s

0
(A) 3mgcosy - 2 mgcos O
. )
(B) 3nigcos® —2mgcosy
0
(C) 2mgcosy+ 3 mg cos O
0
(D) 2mgcos© +3mgcosy

A truck is moving with a velocity

36 km/hr. On seeing a red light, it

decelerates at 2 n/s?. The reflex time of the

driver is 0.4 s. How much distance truck

will travel before coming to a stop ?

(A) 25m (B) 29m(C) 35m D) 21m

10

46.

47.

48.

49.

50.

\pump motor is used to deliver water at
certain rate from a given pipe. To

) obkain n-time water from the same pipe
J ¥ffthe same time, by how many times the
fower of the motor be increased ?

£ (A) 2 (B) 2 () n® (D) n>'2

A solid sphere of mass m and moving with
a velocity v is rolling on a horizontal
surface. 1t collides with a spring of spring
constant k. The compression produced in
the spring will be

A Zm
A v\[5x B V5K
(© V\f% ) vA[3E

Two satellites are moving at a height of
R and 5R. where R is radius of earth.
The ratio of the velocities of the two is

(A) \5:1 (B) 1:1
(©) V3:1 (D) V5:1\2

A gramophone record has radius r and
mass M. It is rotating with a speed ®.
Two drops of wax each of mass m fall

7m

. . r . .
on it at a distance 5 on opposite sides.

The new velocity is

me
. (B) M +m)
M - m)® M®
(©) "M+ m) D) M+ m)
A wire can sustain a weight of 20 kg
before breaking. The wire is cut into two
halves, each part can sustain a force of
(A) 10 kg(B) 20kg (C) 40 kg (D) 80 kg

Drops of liquid of density d are floating
half immersed in a liquid of density p. If
the surface tension of liquid is T, then
the radius of the drop is

3T 6T
W \/gad-p ® \ z2d-p)
— 3T et _

(©)

a5

ad—3p) P\ 2éd=3p)
A particle has velocity \/2_rzz at the
highest point in a vertical circle of radius
r. The ratio of the normal reactions at the
highest to the lowest points is

(A) /7 (B) 1/5-(C) 173 (D) 2/9
PBE

!
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39.

40.

41.

42,

43.
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(A) T,=T

q%a?ﬁ%maﬁ?azﬁﬁa’}eﬁzia .
Erraﬁ%nwﬁ@‘cﬁﬂﬂqaéﬁ TN
(g= 10m/s2)
(A) '3‘m (B)gm (C)gm D) 2m
ve g B a7 (81 + 6]) m/s A waifa R
AT |8 m R FRIT va FeaieR AR ¥ I8
AT : THIA! & | IR IR THIA Bl IR
Agae

(A) im B)12m (C) 1.5m(D) 1.6 m

T m B U IR B AR J BT o0 7d
B Tt g% <) SRA | ATHA I B
SN A TIEE

_mg cos(o. - B)

27 sin(a+PB)

_ mg sin(o. - B)

"~ cos(o+P)
__mgsinP __mgsina
cos(0+B)’ "2 cos(a+P)

mg cos f§ _ _mgcos o,
sin(o.+ )’ 2 sin(o+B)

B) T,=T,

©) T,=
D) T,=
TS | P TP AldTd § A9 m BT U 19

£ |99 SR A 0 BT R S & T9 97 B
s araveT @ BT WA ® | 99 SR |

2 oo 9 e, a9 e

(A) Smgcos‘g‘—ngcose

(B) 3mgcos® —2mgcos'g‘

©) 2mgcosg+3mgcose

(D) 2mgcose+3mgcosg‘
TH ¢F 36 kmv/hr, B iy A wiefia g 10w
et o<t 3T W, 98 2 m/s? ¥ 4T g
& | T® o1 giyadt @ 0.4 s § 1 €% qUia:

TP A T8 fha g3 T IrE M 2
(A) 25m (B) 29m (C)35m (D) 21 m

\
\\ 1% 2

TP T AT BT TN O 1 T 9159 4 U

YO8 R R W o R o ¥ R o g 1 R0

46.

47.

48.

49.

50.

11

| <oy 31 58 o9 R =T O ST e < o,
j  we= o afdt 3 fhaw T glg s w2

(A) n2 B 0?2 ©nd (D)2

T% SR m 3R 4 v Q Afreha S men
T SRS T8 R GEH IR BRAT © | IE
A RR1P k arefl ve Hwrt | Jag wIan
2 | BAF H Seg= et B

(A) V’\/%‘E‘ | (B) v’\/%
(9)) V\/—'n-é D) V'\’%‘%

21 e A R Ud SR R e §, oref

R gt Bt Boan & 1 91 & A9 ST Srua
(A) \5:1 (B) 1:1
© 3:1 (D) 5 :12

T THHI Rare o B r 7d seg| = M
B Id oA PR R TR I RPE W
TS FAHT m P Q1AW BT ga Ao foren

5 0 w frdll § nam

mao

(O]
(A) 5 B) M+ m)
M-mw Mo
© "MTm) D) Mt m)

TH IR e ¥ Ugd 20 kg T AR {UE
[T & | IR B T AFN F FieT ST 7, Jdd
T T HHTS IR

(A) 10kg(B) 20 kg (C) 40 kg (D) 80 kg
T d AT §9 B S T p a1l 9 H oy
HREE IRIFyWTET &, 7@
T FH Peae

3T —er
A\ zed-p ® \ ed-p
3T 6T

O\ gad—3p) @\ g@d-3p)

Mr%@%ﬁquﬁ%ﬁmﬁgw
TP U HT 97 2rg & | ST U Feaw
fagall R arfrerra wfafmanel &1 sFua &
A 177 BUs 13 (D)29
o



51.

52,

54.

55.

56.

57.

58.

59.

60.

Li* has nearly same size as
(A) Mg?* (B) Be?t
©) K+ (D) Cu™

Which one of the following is not

soluble in C2H50H ? .
(A) LiClI (B) MgCl,
(C) KCI (D) H,0

In Castner-Kellner cell, the following
works as cathode

(A) Hg (B) Na
<) C (D) Cu
Dolomite contains

(A) Al,Mg (B) Ca, Mg
(C) Mgonly (D) Alonly

Milk of lime contains
(A) Citric acid (B) Ca(OH),

(C) Mg(OH), (D) CaCl,

Which one is Chile saltpetre ?
(A) NaNO, (B) KNO,

(C) NaCl (D) NayCOj4

Which one has a role in controlling
blood pressure ? :
(A) N,O (B) NO '

(C) NO, (D) N,Oq

How many ¢ bonds are there in
CH=C-CH=CH-CH;?

(A) 4 (B) 6

(€) 10 ®) 9

Which one of the following has Carbon

in both sp? and sp states ?
(A) (CH,),CO

(B) CH,CN
(C) CH,CH = CHCN

(D) CH;-CH,

Nylon 6,6 is a
(A) Polyolefin
(C) Polyester

(B) Polyamide
(D) None of these

12

(B) Lu
(D) Gd

62. A compound (X) on heating with NaOH

form (Y) [C,H4O] and (Z). (Z) when
_heated with soda-lime yields an aromatic
hydrocarbon (P) - (X) is :

(A) C,H;CHO (B) C4Hs;CH,0H
(C©) CHg (D) CHsCHy

63. Which one is more likely to show +1
oxidation state in its compounds ?
(A) Al (B) B
(©) Ga (D) T/

64. Which one has minimum
enthalpy of formation ?
(A) Diamond B) Cqo

(C) Graphite (D) Active Carbon

standard

65. Which is a producer gas ?
(A) CO (B) CO+2N,

(€) CO,+2N, (D) N,+H,0

66. This one is the cause of temporary
hardness of water
(A) Na,CO,

© Mg(HCO3)2

(B) NaHCO,
(D) K,CO,

67. Which one is used in supercritical form
for extraction of compounds from their
natural sources ?

(A) N, (B) CO, !
(©) H, (D) N,O

68. Which one is called a pseudo-halogen ?
(A) N, (B) (CN),
(C) HCN (D) CaNCN

69. Given that bond energies of C — H =
414.0,C=C=8276,C=C=6060 &
H - H = 430.5 kJ mol™!, the enthalpy of
hydrogenation of C,H, (g) to C,H, ()
in kJ mol~! will be about
(A) 1400 (B) 1200
(C) 176 (D) 500

PBE
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52.

53.

54,

55.

56.

57.

58.

59.

60.
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Li+aﬂ(ﬂ$\’l CTIHI gD CNIGN% .

(A) Mg (B) Be?*
(C) K' (D) Cutt
=199 %M C,H,OH # R 7i & 2
(A) LiC/ (B) MgCl,
(C) KC/ (D) H,0
PER-FoN A A =1 BAIS &1 59 BT
g

(A) Hg (B) Na

(©) C (D) Cu
SIAMEC H A B

(A) Al Mg (B) Ca, Mg
(C) ®ad Mg (D) Faa Al
fiem sl emgr A B & -

(A) Rafee st (B) Ca(OH),
(C) Mg(OH), ~ (D) CaCl,

B9 a1 Rreft oIR1® 2
(A) NaNO, (B) KNO,
(C) NaCl/ (D) Na2C03

AT varag &) R v F avem E 2
(A) N,O (B) NO
(C) NO, (D) N,Oq

CH=C-CH=CH- CH, #fe o a1 § ?

(A) 4 (B) 6

(©) 10 (D) 9

=1 7 A s C ST sp? aiR sp aravernait
AR e 2

(A) (CH,),CO

(B) CH,CN

(®) CHsCH = CHCN

(D) CH,-CH,

ATTEA-6,6 & T

(A) uifeeifafs (B) difowarss

(C) uifergeR (D) A B A 78

63.

65.

66.

67.

- 68.

69.

(A) Nd B)Lu (C)Yh (D) Gd

.. & i (X) NaOH & 91 ™ 39 ®

(Y) [C;HO] &R (Z) <1 & 1 (Z)
AT & G T B W TF WA
FTEEIHEA (P) FTIAE dxal & 1(X) &

(A) CH,CHO  (B) C H,CH,OH

(C) C.H, (D) C,HCH,
P I Qe § +1 sifefiwvor srawen
3T & g 2 :
(A) Al (B)B (C)Ga (D) T/

et A% dvaT et gAan ¥ 9

(A) & (B) Cqy
- (©) dwre (D) wfla wrda
TG-FMR I PAAAE 2
(A) CO (B) CO+2N,
(€) CO,+2N, (D) N,+H,0
IE I D1 SRATN PORAT BT BRI E -
(A) Na,CO, (B) NaHCO,
(C) Mg(HCO;), = (D) K,CO,
faer war aifiwifds sraren # 9iffreT @
TP WHIE Al 7 | frepgur & forg fan
TS ?
(A) N, (B)CO, (O)H, (D)N,0
B UP M) EArSE pEAAT S 2
(A) N, (B) (CN),
(C) HCN (D) CaNCN

e g7 F9fe C ~ H=414.0, C= C = 827.6,

C=C=6060 3R H - H = 4305 kJ

mol™! &, @ C,H, (&) & C,H, (i¥)

gRad B F T EEgro e ) vdedt

kJ mol™! # @ 2R

(A) 1400 (B) 1200 (C) 176 (D) 500
(=]



70.

1.

72.

73.

74.

75.

76.

77.

Which one of the following "
electrophile ? :

(A) BF,
(C) (CHp;N

(B) HS™
(D) NH,

Which one has the highest melting poirnt ?
(A) Pentane '

(B) 2-Methylbutane

(C) 2,2-Dimethylpropane

(D) n-hexane

Which one does not have different
conformations ?

(A) Ethene
(C) Cyclohexane

(B) Ethane
(D) Hexane

Diesel is the fraction obtained during
petroleum fractionation ~ with  the
hydrocarbons ~ with carbons in the
following range :
(A)-C5-Cyg

©) Cip-Ci3

D) Ci3-Cig

Which kind of coal has a 40% C ?
(A) Anthracite (B) Bitumen
(C) Lignite (D) Peat

1-cyclohexyl-4-methylhexa-1, 3-diene
upon ozonolysis gave cyclohexanal as
one product, another product is

(A) Ethylmethyl ketone
(B) Acetone

(C) Diethyl ether

(D) Hexanal

Which one is a m-directing group during
substitution reactions on benzene ring ?

(A) —~COOH  (B) —NH,
(C) —-OCH,4 (D) -CH,

How many structural isomers of C,HO
are possible ?
(A) 3
©) 5

(B) 4
(D) 6

14

79.

80.

81.

82.

83.

84.

85.

) one nucleophilic centre
two nucleophilic centres
one electrophilic centre

(D) one nucleophilic + one electrophilic
centres. :

What is the concentration of F~ beyond
which it is dangerous in drinking water ?

(A) 10 ppm (B) 1 ppm
(C) 2ppm (D) 5ppm

As a pollutant in water, it causes
eutrofication

(A) Cd
(C) Hg

(B) Pb
(D) PO;

The Ostwald simple dilution formula is

(A) a=+KV (B) o.=K\V
©) a=K>V (D) o=+K-V

The “grape sugar” is
(A) Starch
(C) Maltose

(B) Glucose
(D) Galactose

Which one of these is not a protein ?
(A) Haemoglobin (B) B-Carotene
(C) Trypsin (D) Silk ‘

Which one of the following could be the
molecular formula of Vitamin A ?

(A) CyHyO  (B) CypHygN,ChOS
(C) CyHyNOp (D) CoHy705N

Ammonium molybdate is used during
lassaigue’s test for the following

(A) CI (B) N
(C) Br D) P

PBE
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=1 1 B 1 g g & 9
(A) BF, (B) HS-
(C) (CH,),N (D) NH,

fHAPT TS ITard ™ B8N 2

(A) e

(B) 2-#frar e

(C) 2, 2-TTgfret Wi

(D) n-FRA

ferds it BiBrte T8 8 2

(A) T (B) uwdH

(C) WRFaReA (D) @A
Yoot & wra wurS § e § Sufla
BISSIPIEA Bl BT AT BT IR &
(A) C5-Cy, (B) C;-C,
©) Cip=-Cj3 (D) C3-Cyy

o f5e & drarel § w7 40% C B ans 2

(A) tarrge (B) fagh

(C) fermge (D) de
1-uTgTlefRad — 4 - AfaRER -1, 3 -
STEET IV 39T W ARIFARIITA T
I & /9 TR &, TART Ie41E BN
(A) RemRE s

(B) wdieH

(C) SEuRE$eR

(D) =@

BH W WE S oaw W e
rfiferanait § m-Feenemes & 2

(A) —COOH (B) —NH,

(C) ~OCH, (D) - CH,

C3H,O & b IReIeTs araad wivg & 2
A3 ®4 ©s D¢
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79.

80.

81.

82.

84.

85.

(O ffem

(D) TF TRFEE + & goaei e

F~ &1 gigar fi1 & 97 § 399 a1 89 W
ENGR® B &

(A) 10 ppm (B) 1ppm
(C) 2ppm (D) 5ppm
=1 STt g guIuer F1FROTE
(A) Cd (B) Pb

(C) Hg (D) PO}
AREATTS BT RATIATGA S

(A) a=\KV  (B) a=K\V
(C) o=K2v (D) o=+K-V
SIE-IMBRT B

(A) werd (B) @it
(C) wie=TS (D) TSt

P A TP N 78T & 2
(A) BFraEdE (B) B-%n—aaq
(D) =W

Rt 3 & 19 <1 Rt A w7 s & 0
(A) C20H300

(B) C,,H,(N,CL,OS

(C) Cj7HyN,Oq

(D) CyH,,0N

o 7demr & SRE s miftete @t

AT 599 UXler & e fear S
(A) C/ (B) N
(€©) Br (D) P



86.

87.

88.

89.

90.

91.

92.

For the reaction 2H,0, — 2H]

which one is correct ?
1 d[0,] ~ d[H,0,]

(A 37a - &
d[0,] d[H,0,]
B) g ~ a&

_dio)) 1 d[H,0,]
© T T2

d0,]  d[H0,]
O T3 T

Which one of these will not form multi-
molecular colloid ?

(A) Fe(OH), (B) Starch
Q) AsyS, D) S

In the unbalanced equation

X+ HNO; — Pb(NOy), + H,0 + O,.
Xis

(A) Pb (B) PbO,

(C) Pb(CO3), (D) PbS,

Carboxylic acids are prepared by
reaction of Grignard reagent with
(A) H,0 (B) ROH

(©) CO, (D) CH,CN

The possible values of m for an electron
with /=1 are

(A) -1,0,+1
(B) 0,+1
©) -1,0

(D) -2,-1,0,+1,+2

The rate constant of a reaction is
2x 1072 L mol~'S 1.

The order of the reaction is

(A) O B) 1

©) 2 (D) 3

The product of XeF, + SbF4 is :
(A) [XeF;] [SbFg) (B) [XeF,] [SbFs]
(C) [XeF,] [SbF,] (D) [XeFs] [SbF4]

16

94.

95.

96.

97.

98.

99.

100.

\ 1
. ;For Ag,0 (s) —2Ag (s) t -2'02 ().
# AH = 30.54 kJ/mol and AS = 0.06 kI

mol~! at 1 atm. At this temperature, the
reaction will be at equilibrium

(A) 463K (B) 273K
(C) 273K (D) 420K

In a solid AB with Na(/ structure, radius

of the A* = 120 pm, the maximum
possible value of B will be :

(A) 430 pm (B) 300 pm

(C) 120 pm (D) 229 pm

The scattering of light by a colloidal
dispersion is known as

(A) Newton effect (B) Bohr effect
(C) Tyndall effect (D) Green effect

The maximum number of ions possible
in an ionic micelle is

(A) 10 (B) 100
(C) 1000 (D) 20

Zeise’s salt contains
(A) Cu (B) Fe
(C) Pt (D) Au

The product of aldol condensation
between 2 molecules of acetaldehyde is

(A) Crotonaldehyde
(B) Butyraldehyde
(C) Butyric acid

(D) Pentanoic acid

Williamsons  synthesis is used for
preparation of an

(A) alcohol (B) acid

(C) amine (D) ether

The ES for Zn 1Zn*2 (aq) || Ni*" (aq) | Ni
is

(E;nl' (aq) |20
(A) +051V (B) +1.1V
(€) —11V (D) —051V

=-0.76V, E;.‘l‘(uq) | Ni =-0.25 V‘) :

PBE
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87.
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HIHAATTIE ?
1 d[O,]  d[H,0,]

A 375 7T @
d[0,]  d[H,0,]
B T T d
d0,] 1 d[H,0,]
© @ T2 a
d0,]  d[H,0,]
D) = =7

B 3§ QP Ul IgeNuiaT Biedizs T
AR ?

(A) Fe(OH), (B) wid
(C) As,S, (D) S
ariqferd iR

X + HNO; — Pb(NO,), + H,0 + O, &
Xg

(A) Pb

(C) Pb(COy),

(B) PbO,
(D) PbS,

wifrafae sra fr afieds & = &

Tl e &Y IR S 8
(A) H,0 (B) ROH
(C) CO, (D) CH,CN

U goae et [ = 1 &, Sqb m &
Fwfad 9 81

(A) ~1,0,+1

(B) 0,+1

< -1,0

D) -2,-1,0,+1,+2

s AfAfFaT &1 I RRI®

2% 1072 L mol”!S! & 1 5w arfufrar
B E
(A) O (B) 1 )2 D) 3
XeP4+SbI~ HIIAE T

(A) [XeF,] [SbE(] (B) [XeF4] [SbF;]

(C) [XeF,] [SbF5] (D) [XeFg] [SbF,]

94.

95,

96.

97.

98.

99,

100.

mol“, 1 atm | 59 aoa™ w® T Afdfear

JTRTERAT IR BN 2

(A) 463K (B) 273K
(©) 273K (D) 420K

wmABWWNaCIWa%%,

A* %1 e = 120 pm, B ~ %1 daie
AR ER:

(A) 430 pm (B) 300 pm

(C) 120 pm (D) 229 pm

TSl FET S U BleirgS! TREUU &b FRT
gAY, I8 FEATTE :

(A) eI 99E (B) &R uwE

(C) Reaywm (D) sRa v

o amafie fRye ¥ gaifie Swfea srast
P A=RTE

(A) 10 (B) 100 (C) 1000 (D) 20
TS P AU AY ¢ v

(A) Cu (B)Fe (C)Pt (D) Au
W@E%’mﬁ%zﬁﬂmm
HTIAR Y

(A) PRMCSEES

(B) gferfeswss

(C) HReR® =

(D) YIS 3T

fRferr dOeT 3% Sae & fag &M |
ARTIRIE :
(A) SrcBIEe
(C) whm

Zn |Zn*2 (aq) || Ni** (aq) | Ni & f0 EZ
Fgran, Iy

(B) ard
(D) W

(Efznz‘(aq) lan ™ ~0.76 V.Eg> o) |Ni = -0.25 V) :
(A) +051V (B) +1.1V
€ -11Vv (D) —051V



101.

102.

103.

104.

105.

If A is non-singular and (A — 2I) (A% 4]\ 0,

pen (24 )
1en6 3

(A) O (B) 6l
© 21 D1
1 1 1
5+4—!+a+ ........

1 is equal to
1+§+§+ ........
(A) (et1) (B) (e-1

) o5

If a, ay, ay, az,...8y, b are in arithmetic

progression and a, g,, €, €3, --+- &y b
are in geometric progression, and h is the
a,ta
harmonic mean of a and b, then
€1 €2

a + | 4 + 4+,

— TP is equal

€281 €n8n+1
to

2n
(A) T (B) 2nh
n

(C) nh (D) m

If A(cos o, sin o), B(sin o, — cos o),

~C(1, 2) are the vertices of a A ABC, then

as o varies, the locus of it centroid is
(A) x?+y?-2x-4y+1=0

(B) x2+y?—2v—4y+3=0

(C) 3(x%+y?)-2x—~4y+1=0
(D) 3(x2+y¥)-—2x—4y+3=0

x+2 x+3 x+5
Thevalueof | x+4 x+6 x+9 |is
x+8 x+I1 x+15
T(A) 2 ‘
(B) -2
©) (x-17°

(D) x3+32+3x+1

18
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Jwhere (a +b+¢)=

107.

108.

109.

110.

111.

‘he straight lines 4ax + 3by + ¢ = 0,
0 are concurrent at

11
® (337
11
™ (33)
The equation of a circle is x* + y2 = 4,

The centre of the smallest circle
touching the circle and the line x + y =

5\/5 has the coordinates
33 : 7 7
@) oG
A A
© ( N2 2\/5)@) (2\15’ 2\15) -

the point

(A) (4.3)

The number of common tangents to the
circles x2 + y2 =4 and

x2+y2—6x~8y~24=0is

(A) 0 (B) 1
<) 2 D) 3
The locus of the vertices of the family of
3.2 2.

parabolas y = _2_1_3;)\__ + aT)" —2ais

s 3
(A) xy= 64 (B) -\Y“4

35 : 16

©) xy=7¢ (D) xy=733
The centre of ellipse .
ty 2 G-y?

9 16
(A) (0,0) (B) (0. 1)
©) (1,1 (D) (1.O)

1
The vertices of a triangle are (pq, pq)

1 1
(qr qr) and (rp, g), where p, q, r are the

roots of the equation y° — 3y? + 6y + 1 = 0.
The coordinates of its centroid are

(A) (1,2) (B) 2.-1)

©) (1,-1 D) 2.3)

PBE



101. iy A ooy 2 iR (A - 2D (A -

Tﬁl(‘é'"f"ﬂA_l)WW%

6 3
(A) 0 (B) 6l
) 21 D) I
1 1
-i—!+z!~+a+ ........
102. T 1 BTHME S
1+-3—!+§—'+ ........
(A) (e+1) B) (e¢-1

o o

103. 3R a, a;, a,, a3,...3,,, b IR Foft § &

3R a, g, gy, &3, - g, b UIRR ot &
23R h, a T b &1 &RHG AT ¥, 99

aytay, ata a,ta, .,
g1 82 €28 -1 ZhEn+1
CAKIE RS
2
A T (B) 2nh
n
(©) nh o 7

104. afe A (cos o, sin o), B(sin o, — cos ),
C(1,2) t@& AABC & fif &, qa 59 o 9
IRads BT 8, 79 30 b5 [ B faguy
5

(A) ¥2+y2-2x—4y+1=0

(B) x2+y?—2x-4y+3=0"
(C) 3(x:2+yH)-2x-4y+1=0
(D) 3(:*+yh)-2x—4y+3=0

x+2 x+3 x+5§
x+4 x+6 x+9
x+8 x+11 x+15

(A) 2

(B) -2

©€) (-1

(D) X +3x2+3x+1
PBE

105. BIAAE

19

107.

108.

109.

110.

111.

TE ga B B0 12 + y2 = 4 F |
x +y =52 3R ga & @Wd FA I
FATH g & b5 P MSUD &

@ (33)

' 7, 1

®) (2\15 2\/§j
77 7 7

© (35 =™ GEs)

?Fﬁx2+.y2=4Q‘ci

X2+ y2 - 6x — 8y — 24 = 0 W IS

Trsfal oY S B

(A) 0 (B) 1
€ 2 (D) 3
3 2 '
Wﬁy=?‘%2‘+a—zﬁ—23a?qﬁmﬁai
et o1 fagua
105 3
(A) xy="gxr (B) xy=7%
35 16
©) xy=7¢ (D) xy=733
e ‘
2 ()2
(2P GV
(A) (0,0) ®) ©O,1)
© LD (D) (1,0)
W%f’ﬂ}ﬁ%?ﬂﬁ(pq '1—)
"2

Y (1 . '

(qr, qr) Tq (rp, rp) ¥ Wil p, q, r FGHIBRU
Yy - 3y2 + 6y +1=0%7d ¥ | 395 oA
g Pt |
A) (1,2)
© 1,-1)

(B) 2,-1)
D) (2.3)



112,

113.

114.

115.

116.

117.

118.

Given that g(x) =1 ++/x and
flg(x)) =3+ 2\/._x+ x, then f(x) is ed
(A) 1+ 242
(O 1+x

The range of function

v2
f(x) = cos™! (1 :sz) i; :
NE
o5

If f(x) and g(x) are periodic functions with
period 7 and 11 respectively, then the

period of F(x) = f(x) g@) —g(x) f@') is

(A) 1155 (B) 177
) 222 (D) 433

- 3 X
Forx € R, 11m (\ T 2) is equal to

1
(A) e (B) -
€) &3 oo €
If £(1) = 2 and g’'(\2) = 4, then the

derivative of f(tan x) with respect to
T,
g(secx) at x = 31s

(A) 1
1
© V—E

The value of n™ derivative of xe* is zero
when

(A) x=0
) x=

(B) \2

(D) 2

(B) x=-1
(D) x=-n

The angle between the asymptotes of the

2 2
L At
hyperbola 16~ 9

(A) tan™! (27—4)
(C) tan™! G})

=1is
(B) tan™! @
(D) tan”! (572)

20

Y
7o A (0.9)
7 (C) (o0, 4)

120.

121.

122.

123.

i

n— oo

124,

125.

(B) (0, )
(D) (4,<)

If1 = f (fnx)" dx, then I +n 1 is
equal to

(A) M (B) x(Inx)~!

-1
D) (Inx)"~

X

(C) x(Inx)"

The value of f m dx is

w3 ®F ©On O3

The area enclosed between the curves
y2 =xandy=
A1

<) 1/3

Ix| is
By L
®) ¢
D) 2/3
The value of

12422+ ..+ (13+23+ ...
(154204 . +n%

+ n3)

m

is
12

8 7 8
A1 B33 © 1 O 19

¢

The solution of differential equation

2
% = y%%l‘ is equal to

(A) xy=fx)+c  (B) xy=fx)+cx
(€©) y=f(x)+c+x (D) y(x+c)=flx)

A spherical balloon is being inflated so
that its volume increases uniformly at

the rate of 40 cm’/min. At r = 8 cm, its
surface area increases at the rate of

(A) 8cm*min  (B) 10 cm¥min
(C) 12ecm¥min (D) 16 cm?/min

PBE



RSy A S———

112.

113.

114.

115.

116.

117.

118.

PBE

Rard gx)=1+/x 3R |
flg(x) =3+ N[x + x, 7@ f(x) H14 it

(A) 1+2x2 (B) 2+x?
(C) 1+x (D) 2+x
B

2

f(x) = cos™! (1 ixz) PR E

w o
o oz

o [

IfE f(x) 3R g(x) A 3 Bt 7 aﬁ? 11
arel et e &, 99 Fx) - f(x) g@—) -
g(x) f@)maﬂﬁm%

(A) 1155 (B) 177

x—3Y
xeR &R, lim (x ) HTHAE
x>0

x+2
]

®) 3

(D) €°

(A) e
(C) &

afX £/(1) = 2 3R g'(\[2) = 4, 79 g(sec x)

& AT f(tanx)aﬂeﬁi?ﬁa?fx=Eq‘\r g

4
A) 1 B) \2

1
©) ”\/_5 (D) 2
xe*‘ésn%immwsfa%w
(A) x=0 (B) x=-1
(C) x=n (D) x=-n

sfiRaed ?—i - ‘\193 = 1 & Il &
;ﬁﬂaﬁw‘a‘ _

(A) tan™! (274) B) tan! (%)

(C) tan™! @ (D) tan”! (572)

(C) 222 (D) 433 _

w2 L ) 0,4

120.

121.

122.

123.

124,

125.

e f(x) = (t + 3x —x2) / (x — 4) &, 5Tl
wrae &, 99 Wl P P Ha<d Ud U6
HAFM BN & ford t B AF XA B

(B) (0, )
D) (4, )

(C) (==, 4)
!Iﬁ{ln=f (hx)"dx,s@l +nl _ @

qAE

(A) (Inx)"

X

n—1
(C) x(mx)" (D) Qn_xx)____

(B) x(nx)"~!

dx HTAFE

} x

(1 +x) (1 +x%)
0 .
wE ®F Ot O3

% y2 = x Td y = x| A o1 &5ha &

A) 1 (B)% (€)1/3 (D) 2/3
lim
(12+22+ . +n?) (13+23+ .. +nd)
(1°+2°+ .. +n0)

FIAF G

12 8 7 8
A 19 B37 O3 ® 719
AP AHIBO]
Qx_xf'gxg—zz
& P ETBIAM &
(A) xy=fx)+c (B) xy=f(x)+cx
(©) y=f(x)+c+x (D) y(x + ¢) = f(x)
7@ M (@R S 59 THR G w1 g

SHT AT 40 cm>/min. B G THAH
FEAT S I r =8 cm W, T4 TS &6 H g9
Y9 gfg B

(A) 8 cm?/min
(C) 12 cm?/min

(B) 10 cm?/min
(D) 16 cm?/min
o



126.

127.

128.

129.

130.

131.

132.

- (C) [10, 16]

If cos (x — y), cos x, cos (x + y)

harmonic progression, then sec x d

is equal to
1
(A) %1 (B) i%
1
© 75 (D) 2

Given f(8) = 5 cos © + 3 cos (e +§) + 8,

then the range of f(0) is
(A) [0, 16] (B) [6,16]
(D) [1,15]

The number of solutions of the equation
tanOtan40=1for0 <O <mis

(A) 5 B) 4

©) 3 (D) 2

Yadcos (B-C)is equal to
(A) 3abc (B) 3(a+b+c)
(C) abc(a+b+c) (D) zero

If p., p, p; are respectively the
perpendicular from the vertices of a
triangle to the opposite sides, then
P; Py p3 is equal to (R is circum-

radius)
21,2 .2 21,22
a“b“c a“b-c
®) 3 B) S
4a?b’c? aZb2c?

Each side of a square subtends an angle
of 60° at the top of a tower h metres high
standing in the centre of the square. If
‘a’ is the length of each side of the
square, then

(A) 2a%=h?

(C) 3a?=2hn2

(B) 2h%?=a2
(D) 2a?=3h2

The number of values of me N for which
y = €™ is a solution of the differential

3 2 d
equationj_)g— 3'3;%— 4a‘}+ 12y =01is
(A) 0 (B) 1
<) 2 (D) more than 2

22

134.

135.

136.

137.

138.

139.

ood, the probability that the other is
¢ also good is

(A) 1/3
(C) 5/13

(B) 8/15
(D) 2/3

The unit vectors orthogonal to the vector
~ i+ 2j + 2k and making equal angles
with the x and y axes are

) £3(i+24)
®) 3(i+j-k)
(©) i%(zf—zj—ﬁ)

(D) i%(f—2}—2fc)

- 2 - 2
If(gx b) + (a : b) = 144 and
lgl =4, then IE)I is equal to
Ay 16 (B) 8 (©) 3 (D) 12
If the vectors 2} — 3j+ 4, T+ 23\—‘ k

and xi— j+ 2k are coplanar, then x is
equal to

5
wi ®m ©o0 o1

1 1 1 1
(tan‘l 3t tan™! 3t tan™! 7+ tan™! §) is

equal to
)

Wwr ®3F ©F OF

If the standard deviation of a variate X is
o, then the standard-deviation of aX + b is
(A) ac+b (B) ac

©) o (D) [alo

5 coins are tossed simultaneously. The
probability that at least one head turning
up is

1 5 7 3]
W3 B3 OF O

PBE



emsrE— .

126.

127.

128.

129,

130.

131.

132.

PBE

ﬁﬂﬁﬁ%\*,a’c{secxcos@)aﬂm & (

(A) £1 B) £

1
©) = g (D) £

fear g f(0) = 5 cos 8 + 3 cos (94E)+ 8,
T H(O) P&

(A). [0, 16]
(©) [10,16)

(B) [6,16]
(D) [1,15]
JHIEHRT tan O, tan 40 = 1 & Bl &) A&
0<O0<nafrag
(A) 5 (B) 4

<3 D)2

Yalcos (B-C)BraM S

(A) 3abe (B) 3(a+b+c)
(C) abc(a+b+c) (D) I

Ife us Byt & oMt A R qorisii w® o
B |, Py, Py B, TA p; P, p; BT HA &
(R grzg B g)

A) a?b?c? (B) a?b2c?
R2 4R?
4a2b2c? a2b2¢?
© Tr ®) “er2

T T B IRAD o, T F P R @D h
Hiex St MR & ofid 7, 60° F1 BYor gh
2 1 T &) IS YO P TS ‘2’ B, 99

(A) 2a%=h? (B) 2h%=a?
(C) 3a?=2h? (D) 2a2%=3h2

d3 d? d
W:ﬁuwﬂmwﬁ— 3d—x%f4?dﬂxf+
Ry=0®8dy =™ &1 & foR meN
WRm P T P =T 8
(A) 0 (B) 1
©) 2 (D) 2%

23

134.

135.

136.

137.

138.

139.

\, T 7 3 10 3 & e 4 %08 g0 ¥ 17
e 2 am Prarar o € 1 AR 99 A 7o

3TEBT YR AT &, 99 GARY & W IeST U
S @Y wran &
(A) 1/3 (B) 8/15 (C) 5/13 (D) 2/3

qfew — 1+ 2] + 2k ¥ oFaad W x qA y
el | |HH BV G EY SHTS Aew §
(A) i%(zhzj )

® t3(i+5-k)

© +3(i-21 %)

(D) i%(?-zj—zfc)

af (3xB) +(3-B) = 144 3l
2| = 4,73 |B| e e

(A) 16 (B)8 (O)3 (D) 12

afy afe 2i- 37+ 4k, i+ 2j- k v
xi -+ 2k TUacig &, Tax FIAA

8 5
Az B3

©0 D!

(tan‘l l+ tan‘l ‘1‘+ tan‘I '1‘+ tan‘l l) Caf

3 5 7 8 .
AT

n n n

A nm (B35 €3 ™ 3
T T W X & 96 e o8, 99
aX + b F19M® fIge- &
(A) ac+b (B) ac
©) o (D) lajo

5 Ryad v A1 IBTA WK & | B Q BH TP
‘BS’ HUR I B 9IRHT &

1 5 7 31
Az B3 O D3y
o



140. If f(x) is defined on [0, 1] by ]
following rule

i [ x Jifxe Q

W=11_ ifreQ
then fof(x) for all x € [0, 1] is
(A) x B) I-x
) 1 (D) zero

141, If the function {: C — C be defined by

f(x) =% - 1, then ! (=5) is
, 1
(A) 24 (B) 33

(C) {21, - 21} (D) {-2,2}
142. For the equation
zz+ (-3+4)z-B+4)z+k=0to
represent a circle, the value of k is
(A) 48 (B) 36
) 32 (D) £25

143. If n is a positive integer, then value of

W3+i) +(3-1)" is

T T
(A) 2coss (B 27+ leos -
(© 2"~ 'eos (D) 2 cos

144. The origin and the complex numbers
represented by the roots of the equation

22+ az + b =0 form an equilateral
triangle if

(A) a=2b
(C) b*>=3a

(B) a?=3b
(D) b=2a

145. If A = {1, 2, 3}, B = {4, 5, 6}, then
which of the following is not a relation
fromAtoB?

(A) Ry ={(1.4),(1,5),(1, 6)}

(B) Ry={(1,5),(2,4),(3,6)}

(C) R3 = l(liﬁ 4)9 (], 5)9 (3’ 6)’ (25 6)’ (3. 4)}
(D) Ry=1{(4.2).(2,6).(5. 1), 2.4}

24

147.

148.

149.

150.

p; +qv +r=0, then value of h is

B4y wly

. o (1+xY
In the expansion of —x) the

coefficient of A" will be
(A) 4n (B) 4n-3
(C) 4n+1 D) 2@n+1)

The number of different words which
can be formed from the letters of the
word LUCKNOW . when the vowels
always occupy even places is

(A) 120 (B) 400
(C) 720 (D) 960

A student is to answer 10 out of 13
questions in an examination such that he
must choose at least 4 from the first 5
questions. The number of choices
available to him is

(A) 196 (B) 280
(C) 346 (D) 140
The sum of the series !

1 P 1+3 Y T143+5
n terms-is

(A) %(n% 4n +3)
L

(B) Z(n*+ 2n+1)
n 5

) 54‘(2n"+ In+ 13)
n

(D) 17 0*+2)

PBE



140. 3% [0, 1] ® f(x) F=faRea
gRwifa ST
X , IRk xeQ
fW=1,_, )
-x,qxe Q
agaixe [0, 1]F R fof(x) &

(A) x (B) 1-x
O 1 D) ™

141. 3T w5 £ : C » C WRyfdg B &
fx)=x%-19Q,qa /(-5
1

(A) 24 (B) 53
(€) {21,-2i} (D) {-2,2}

142, iR »
zZ+(-3+4)z-3+4i)z+k=0H
T 3 9T B & A k STHFA §
(A) 48 (B)36 (C)32 (D)<25

143, aft n w s Qo &, aa (V3 + ) +

n
(&) eosTe (B) 20+ leos
() 2““lcosﬂg' (D) 2 cos%‘fE

144, faxW 22 + az + b = 0 & el Q yaf¥g

AR AR d qafaeg g aatyarg By
CRIGE-E TS

(A) a=2b (B) a?=13b

(C) b*=3a (D) b=2a

145. aff A= {1,2,3},B= {4, 5, 6}, 99 e
AP A QB Id TG AEE ?
(A) Ry={(1,4).(1, 5), (1, 6);
(B) R, =1{(1,5),(2,4). 3, 6)}
(©) Ry=1{(1,4),(1.5),(3,6).(2,6). 3. 4)}
(D) Ry=1{(4.2).(2,6).(5, 1), (2,4)}
PBE

147.

148.

149.

150.

o 46

Gf:)z %Wﬁ,x"‘cﬁ]ﬁvﬁgﬁn

(A) 4n
(C) 4n+1

(B) 4n-3
D) 2@2n+1)

LUCKNOW e ¥ @i & R Ry

veg R ST b & S1g ¥ T IR g5
TRIEAS

(A) 120 (B) 400

(C) 720 (D) 960

T faenefl o1 v wen F 13 9w A] 105
TR GATBR A e fH v Syl A 9 4
& 4 T e T | SHD| YT 0 I Bt

—\qw%

(A) 196 (B) 280
(C€) 346 (D) 140

syofy

13 13423 13423430 |
1P 753 P Tixr3xs5 T n g
TS HTAM R

(A) %‘(n3+ 4n + 3)
L o
(B) z(n+2n+1)
(C) 75 (2n2+ 90+ 13)

(D) 75 (n2+2)



151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

> <

s
i e

This inhibits the interaction b wee&
tRNA and mRNA
(A) Tetracycline
(C) Neomycin

(B) Streptomy
(D) Chloramphe

In lac operon, the inducer binds to Bt i

(A) Repressor (B) Lactose

(C) mRNA (D) RNA polymerase
Tissue Plasminogen activator is a

(A) Protease (B) Lipase

(C) Amylase (D) Phospholipase

Which one prevents frost damage to the

plants ?

(A) Trichoderma (B) E. coli

(C) P.Fluorescence(D) P. Putida

How many genes approximately are
present in human genome ?

(A) 4,000 (B) 10,000

(C) 15,000 (D) 30,000

This has fusiform root

(A) Raddish (B) Beet

(C) Turnip (D) Carrot
The following has racemose branches
(A) Datura (B) Croton

(C) Casuarina (D) Euphorbia
Glandular hair, as defense mechanism
are present in

(A) Rose

(C) Datepalm
This is a granulocyte
(A) Eosinophil (B) Erythrocyte
(C) Monocyte (D) Lymphocyte
Many other amino acids are formed from
this by transamination .
(A) Alanine (B) Cysteine
(C) Glutamic acid (D) Aspartic acid

In cyclic photo-phosphorylation, this
does not happen

(A) NADPH production

(B) C-fixation

(C) Light absorption

(D) O, production

Enamel of human teeth is made up of
(A) Calcium Phosphate

(B) Calcium Carbonate

(C) Chitin

(D) Glycogen

Carbonic anhydrase molecule hydrates
about so many molecules of CO, per
minute '

(A) 36x10°
©) 10°

(B) Tobacco
(D) Lemon

B) 10?
(D) 36x10°

26
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{ BIOLOG

(B) Red blood corpuscles
(C) Respiratory organ

(D) Dry skin
165. Their excretory organs are malpighian
tubules
(A) Flatworm (B) Earthworm
(C) Locust (D) Rotifers
166. Visual information is decoded by
(A) Occipital fobe (B) Temporal lobe
(C) Parietal lobe (D) Frontal lobe
167. This gland stores its secretory product in
large quantities
(A) Pituitary (B) Thyroid
(C) Pancreas (D) Adrenal
168. A single molecule of adrenaline leads to
release of millions of glucose molecules
within this time period
(A) 10 seconds (B) 1 minute
(C) 10 minutes (D) 1 hour
169. In  these, reproduction involves
formation of gemmule
(A) Sycon (B) Planaria
(C) Hydra (D) Monocystis
170. Phytoplanktons grow in abundance in
this zone
(A) Littoral (B) Limnetic
‘ (C) Profoundal (D) Benthic
171. During - succession in aquatic
environments, this stage is ]USt before
forest
(A) Marsh-meadow
(B) Submerged free floating plant
(C) Reed-swamp
(D) Scrub '
172. Mescaline is
(A) Sedative (B) Opiate
(C) Stimulant (D) Hallucinogen
173. Softening of tomatoes is promoted by
(A) Pectinase (B) Cellulase
(C) Hexokinase (D) Amylase
174. The “T” in DPT vaccine stands for
(A) Typhoid (B) Tetanus
(C) Tccells (D) T, cells
175. What is the approximate diameter of

chylomicrons ?
(A) 150 nm
(C) 150 pm

(B) 15nm
(D) 15um

PBE



151.

152.
153.
154.

155.

156.
-157.

158.

159.

160.

161.

162.

163.

PBE

78 mRNA 3K (RNA 9 qeqRe fr
BIASHA BN S :

(A) CTemmEfeE  (B) i »
(C) feimmsR (D) FARTEBAHA
A MR ¥, IS AV A BT 8

(A) FRs (B) Jae

(C) mRNA (D) RNA uifers
Had! Ao fharefia-eR® & U :
(A) wiETs (B) rguw

(C) g™ (D) BRpregis
g YUl A QUR §RT S0 &fd S AFaTE
(A) sTEPrea! (B) %. s

(C) e (D) fggRer
AT SR § e fbasy i Sufra &2
(A) 4,000 (B) 10,000

(C) 15,000 (D) 30,000

T IGEY TS EIA

(A) Feit (B) o=

(C) waom (D) TSR

AP IR ST B &

(A) g3 (B) e

(C) SR (D) Fwifda

e fpanfafy & fog s dfRaIm ek &
(A) T (B) wp

(€) T R (D) g

IE UH BRI ¥

(A) seifRMifea (B) <oy

(C) vwdHEDIY (D) eriteTy

T FS 3R M o AT Q g9
g

(A) verA (B) R

(C) Eifmsra (D) varfes ara
YPII B PRERAT A ¥ 981 81T :

(A) NADPH s (B) C &7 RTAIHRUT
(C) waras@amer (D) O, S

G Eq1 P S AR T B B
(A) ST eREe (B) Hfoaad srtie
(C) »1sdH " (D) TEIENH

BT TTeTSS s 1 Ta 379] i e
F CO, U &7 STedier FRaT e :

(A) 36x10° (B) 10*
(C) 10° (D) 36x 10°
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166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

(B) et Yo HivThTe

(C) wrasm (D) gt

ST I 37 Hordih AferaT &

(A) Tue i (B) &Y

(C) fegr (D) &R

T GIT P Hegas IS BT

(A) sgFpIEES  (B) CURA TS

(C) WREcag@s (D) Heads

g T 319+ Tifad S &1 99} 9T § Y
HIAE o

(A) Ry (B) MRTES

(C) sr=arery (D) siftrgap
TSR BT U A g & Rfergat sy
B SA E T H YR IR AATE ¢

(A) 10 Ade (B) 1frme

(©) 10 fFe (D) 1 ¥er

SR HARATIAL :

(A) aTEHH (B) wmRar

(C) szt (D) =i

9 & H UIEwTd S HgRAT A ghg HRA B
(A) A= (B) Wi

(€C) ™R (D) fraere

et QIR # SIgeHaoT 3 I% Srdwen a9 |
fopd gead e & -

(A) Fw-TEA
(B) $9gY w@dH ORd §U Uy

(C) TP

(D) TH

Wﬁﬂ’{% Udb :

(A) SwEHD (B) sifive
(C) e (D) %T»ﬁﬂﬂﬁ'«l
THTERI &1 T 3 3N Ae S el ®
(A) TR (B) Hegelst
(C) twipIgA (D) THIgAS
DPT &% #, “T" H13 & :

(A) THEBES (B) fee™
(C) ToaR@E (D) T, ®RHI
FHISATATGIIT BT ATHT A BIATE ;
(A) 150 nm (B) 15nm
(C) 150 um (D) 15 um



176. Which one of the following actf 3

reducing compound in bi Qg'iqal ) ch with following number of digits
systems ? ‘ A AN / 26 B4 (©) 5 (D) 10
(A) Vltamm c (B) Vitamin N 190 This is an example of a mammal
(C) Insulin (D) Glycogen \ Al A) Whal B) Scoliod

177. Which compound is often used in e (A) ae (B) Scoliodon
density gradient centrifugation ? : (C) Shark (D) Trygon
(A) NaC/ (B) Sucrose 191. What is the range of thickness of cell-
(C) Glucose (D) Stearic acid walls in gram-positive bacteria ?

178. The following structures help in (A) 8-12nm (B) 20-80 nm
absorption of nutrients : ' (C) 10-20nm (D) 100 -200 nm
(A) Microvilli (B) Mltochondrla 192. These are surrounded by a membrane
(C) Plasmid (D) Glycolipids (A) Phosphate granules

179. The following do not undergo cell (B) Glycogen granules
division ~ (C) Cyanophycean granules
(A) De-differentiated Cells (D) Sulphur granules
B) Liver Cells : .
gcg Red Blood Cells 193. Lygoiorrlfes are formed by -budding off
(D) Skin Cells | vesic es from

(A) Smooth endoplasmic reticulum
(B) Rough endoplasmic reticulum
(C) Golgi apparatus

(D) Micro filaments

194. The enzymes for TCA cycle are located
in this part of mitochondria

180. Green blue algae can be as long as
(A) 200 um (B) 100 um
(©) 500 um (D) 100 nm
181. In the classification by Linnaeus, the
‘ non-flowering plants constituted in
following number of class

(A) 24" (B) 20" (A) Inner membrane
(© 10" (D) 12° (B) Crista
(C) Matrix

182. The plants having vascular tissues are

also called to be (D) Outer compartment

(A) Bryophyta (B) Pteridophyta 195. This is a macronutrient
(C) Thallophyta (D) Tracheophyta (A) Ca (B) Zn (C) B (D) Mn
183. Their thallus is flat 196. Which of the following contains least
(A) Chlorella (B) Laminaria amount of branches ?
(C) Volvox (D) Ulothrix (A) Cellulose (B) Lignin
184. This is also called a “walking fern” , (C) Glycogen (D) Starch
(A) Adiantum (B) Lycopodium 197. Which of the following have 03 fatty
(C) - Selaginella (D) Equisetum acids as constituents ?
185. This is not an example of Radiata (A) Phospholipids (B) Waxes
(A) Seaanemone (B) Jelly-fish (C) Fat (D) Steroid
(C) Corals (D) Fish 198. B-pleated sheet refers to the following
186. Following is a free living protozoa level of protein structure v
(A) Giardia (B) Monocystis (A) Primary (B) Secondary
(C) Euglena - (D) Plasmodium (C) Tertiary (D) Quaternary
187. This is not an example of a Porifera. 199. This is a Purine
(A) Sycon (B) Obelig (A) Guanine (B) Thymine
(C)' Chahna‘ ' (D) Potc?rl.on : (C) Cytosine (D) Uracil
188. Which one is neither an acidic nor a .
basic amino acid ? 200. Thisis arqundworm
(A) Lysine (B) Aspartic acid (A) Ascaris  (B) Fluke
(C) Arginine (D) Valine _ (C) Turbellaria (D) Tapeworm
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177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

PBE

1 % i Gifde gmal 9

e g ?
(A) fefmC (B) ﬁa&mD_
(C) z=gei (D) vargdIoE 3\ R~

B9 9 A mAR ugural
IHEHROT A T BT E 7

(A) NaCl (B) g
(C) @I (D) R
9 S owe vt & srgunmer §
AERAT R &

(A) wigpifaens  (B) RSB
(C) wfEs (D) TarsHIfifte
=1 @1 I favres =gl 8Yar

(A) ﬁﬁﬁﬁaaﬁﬁmﬁ(B) Wﬂﬁ?ﬂ(’
(C) e IR®N (D) war BB
WA NI Hsa TP ST AT &
(A) 200 um (B) 100 um
(C) 500 um (D). 100 nm

forfras & aefieor # qwy fadi= aieul &1 g9
AT & a1 H T

(A) 244t (B) 2049t (C) 10di (D) 12df
N FETAATE -

(A) FrRBIES (B) <Rsiwrger
(C) eliwIger (D) wfeareTger
76 JTI AUC BT &

(A) FTRer (B) &faRar
(C) aiearFT (D) gaRFT
STy Neea

(A) Tieyu=sw (B) <s@rafeam
(C) Sremfrren (D) SaRieq
FE SV BT ST TR &

(A) T (B) Srfifser
(©) 4 (D) #weit

= a3 Rereia viesien ©

(A) fenfsm (B) #wmfafes
(C) el (D) weHafsad
TE U gamdt &1 SerRu g §

(A) dEHA (B) aafern
(C) aferm (D) uwreRaiE

STH 9 P A1 AT A i 3R 1 e
AR ?
(A) ARRIA
(C) ams=

(B) wife® 3t
(D) ¥
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191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

q9-51 W R g1 T B &, vhd ¥

(B) 4 ©) s (D) 10

7 (A) =E

(B) wwIferaei
(C) arH (D) grg

UE gAD St o HifRw-fRy @t
AT B R B &

(A) 8-12nnm (B) 20-80nm
(©) 10-20nm (D) 100 -200 nm

TE UH B gRIER B &

(A) BB BT (B) TAISHIGH BT
(C) IRRGRRNT Bo1(D) B HI

QTQT'G'FF&%:Y
(A) Tt siaysedt sfera
(B) @& st siiferat

(C) meh T

(D) g ag

A 9% & Rox grecofea & 39 RS
qEE:

(A) smmar (B) feer

(C) sparh (D) =T ®g

Y8 TP J5q NP A © ¢

(A)Ca (B)Zn (O)B (D) Mn
=1 3 Q foret _paw o B € 2

(A) g (B) ferris

(C) W - (D) =™

=1 9 fpadl 3 g e R €2

(A) wrepifafdls (B) "W

(C) gwr (D) f&xige
B-g1eER FEx WITH WaT & fr wR A
Jafra g

(A) wafre (B) fEras

(€©) Thas (D) ag=s

JETH PR

(A) T (B) o=

(C) wEer™ (D) gfxa
?@WW% :

(A) THRE (B) wf&

(C) efdaifan (D) 2
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(B) Process for Filling up Part-1 of Answer-Sheet W IASH IRC-1 5t Wﬁﬁm) :
1. ANSWER SHEET IS OF OMR TYPE TO BEREAD BY COMPUTER SCANNER.
I 3. TH. 3T TR 1 & 8 Fge @R gRT vgT ST Y |

2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part- 1 of the Answer Sheet
in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the circles
corresponding to the digits be blackened with Blue/Black ball point pen only.

IW-TTHH IR | %ﬁﬁ%mﬁwﬂaﬁaﬁﬁmﬁﬁwmgﬁaﬂﬁm 3T ! IT-FFH T IR
T 9T | R | SR & G @ 31 1T ST FHo i Ao/t @t § 9t ok sty et 5 Rl
ot/ et et @ 9 F oY |

Example: I[fRoll No. is 179684 and the Question Booklet No. is 14390, then

IITERT: I U =R 179684 & T e QTR W@ 14390 8, &t
11719]1618]|4 11413190
Q@ O|O|O|IO|O L_JIol {0l o)[0)
O|O|0(0|0|0 Q|0(0|0|0
O|O10(0|0|06] OJIOIX JIelf6)
OO|o0|o|e O _HONONHO)
OO0 B PIOIO[OIG
OXGHGH HOIKG) PIEIOIO|®
G HeHOHOIKOIR JO|010|0|0
OHOHONIOI JI6) 71OI®|®1®|®
OOl J[oJ[o}lO) QO|0|e|®
Q|0|0|0|0|® O|lO/0|0|®

(C) Process for Filling up Part-2 of the OMR Answer-Sheet (FTC-TAH -2 o A uferan)

. The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. Any candidate uses the pencil for darkening the
answer sheet his/ her answer sheet will be rejected.

WY - yER S |Wm$mﬁ&nﬁﬁwwﬁﬁﬁmwéaﬁwm% | Trerelt B vre e
5 olfereh SR foeet o W1 S e Tt o e st ster e 4 @ B | A HiE FHAR T % g
T SHT ST T A S IR T Y T BT ReAT ST |

Example: If correct answer for question no. 7 is the choice *B’, then darken the circle in front of question no. 7 as
shown below :- :

R aﬁ:mﬁw7a¥ﬁwﬁm‘3Gﬁw%,ﬁmm7%w#%mﬁuaﬂﬁﬁﬁ%%@ﬁnﬁ%w
T
Q.No. 1 ® © ©
Q.No.2 ® © ©

Q.No.7 ® ® O ®)
2. (a) The circles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
(®) ST BT C-1 F @R = TR et ! et / breft At @ O gRT & O Y |
(b) The shading should be dark and should completely fill the circle.

v (@ M H ‘{U'j'{'&q EaRecys & e T | Continued on the next page.
m] 31 3T YT YT RE |



(c) Only one circle corresponding to the correct answer should be darkened as shown below :-

() ST R W eeT T B Mot O ST ey shar A ey
Correct/ W&l ® @ © @) ‘

Incorrect/™7 A @ @O o @P@OO® o O@OO o ®@® 000
Incorrect / /A @“@ or @@@@ or @e@@ or @’n@

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle using Blue/Black ball point pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer sheet is not permissible as the answer sheets are machine
gradable and it may lead to wrong evaluation.

(%) mﬁﬁaﬁqﬁvﬁ/wﬁaﬁamﬁzmﬁi’ﬁ@qﬁMw@mqﬁ&aﬂwﬁ%a}a‘ﬂ%maﬁm
HE T 1 7 @ E I Y W T R e e A | SR 6 T e ) e e gy
ﬁaﬁraﬁWﬁﬂﬁ%%w—mﬁ%mmmm%ﬁwmwmﬁﬁﬁ
ST EE & | >y

. . p G.’\ : D . o, . .
(e) If more than one circle is darkenegff Rig Bite ™R R point pen or if the response is marked in any other
manner or as shown in “Incorreg

4 t@aeﬁﬁod” above, n\s 2 pe treated as wrong very way of marking,
(%) % T & s iet t Fef/ oy e o 1
Rl & sHeRT R A, &t 38 (@wﬁmwﬁjym
Rough work must not be done on the ONg nﬁ&‘ﬁlﬁ?
be used for this purpose. )

FeReiT SR ST Frea T ST OX TR O § 1 3 e ST o Tk ore @l we o R &, s W
HET HH |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked: otherwise the candidature
will be rejected.

I-F T DY AR Hre” K ot ave @1 FRie snfe = srd o 2 et e 7 foreper ¢ 3t 7 Forgrer €091 ey
T} Y IHiERT TqT X & AR |

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-1 of the OMR
Answer Sheet as this may lead to disqualification.

w—w%m‘-l%m&awww%ﬁmwwwwwmqmm?@%m%wﬂwﬁ%m
TG R S S Fher § |

For verification of your handwriting, it is necessary to write the prescribed Text completely, which is printed on the
back side of the Part-1 of OMR answer sheet and also put your signature on specified space in Hindi & English
otherwise your answer sheet / candidature will be rejected.

Q.. S0 % T~ | % J 7 sifeeer eien b e ot awferty 7 qut w @ forase oo g s
et e sttt Fruff e W | ettt st 3 forg g afert & 1 e R e R ST SR / Sedeat
T Y far s |

In case.you do not follow the instructions as given on the backside of OMR answer sheet, your answer sheet is
liable to be rejected; for which you yourself will be fully responsible.

TR ST .. 3R, F- IR & T T 5 8 78 Frdt a1 it 78 Fova, o vy SR v vag b o et
& Forereh forg a1y weret ot w9 @ STt 8
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